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P�P (i; j).X

P (1; 3) =


0 0 1 0

0 1 0 0

1 0 0 0

0 0 0 1

 ; P (2; 3) =


1 0 0 0

0 0 1 0

0 1 0 0

0 0 0 1
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P

�P (i(c)) .X

P (2(�1)) =


1 0 0 0

0 �1 0 0

0 0 1 0

0 0 0 1

 ; P (3(
1

3
)) =


1 0 0 0
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0 0 1
3 0

0 0 0 1
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(3)òn�ü Ý
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P

�P (i(k); j).

X

P (2(�2); 3) =


1 0 0 0

0 1 0 0

0 �2 1 0

0 0 0 1

 ; P (4(�3); 1) =


1 0 0 �3
0 1 0 0

0 0 1 0

0 0 0 1
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�P (i(k); j).X

P (2(�2); 3) =


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P (4(�3); 1) =


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0 0 0 1
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P
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P (1; 3)A =


0 0 1 0

0 1 0 0

1 0 0 0

0 0 0 1




a11 a12 a13 a14 a15

a21 a22 a23 a24 a25

a31 a32 a33 a34 a35

a41 a42 a43 a44 a45



=


a31 a32 a33 a34 a35

a21 a22 a23 a24 a25

a11 a12 a13 a14 a15

a41 a42 a43 a44 a45
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P (1; 3)A =
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1 0 0 0
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a41 a42 a43 a44 a45


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a41 a42 a43 a44 a45
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a31 a32
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P (1; 3)A =


0 0 1 0

0 1 0 0

1 0 0 0

0 0 0 1




a11 a12 a13 a14 a15

a21 a22 a23 a24 a25

a31 a32 a33 a34 a35

a41 a42 a43 a44 a45



=


a31 a32 a33

a34 a35

a21 a22 a23 a24 a25

a11 a12 a13 a14 a15

a41 a42 a43 a44 a45


ÈÝ
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*	þãÐ�Ý
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P (1; 3)A =


0 0 1 0

0 1 0 0

1 0 0 0

0 0 0 1




a11 a12 a13 a14 a15

a21 a22 a23 a24 a25

a31 a32 a33 a34 a35

a41 a42 a43 a44 a45



=

� 
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)]3 
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P (1; 3)A =


0 0 1 0

0 1 0 0

1 0 0 0

0 0 0 1




a11 a12 a13 a14 a15

a21 a22 a23 a24 a25

a31 a32 a33 a34 a35

a41 a42 a43 a44 a45



=


a31 a32 a33 a34 a35

a21 a22 a23 a24 a25

a11 a12 a13 a14 a15

a41 a42 a43 a44 a45


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P (1; 3)A =


0 0 1 0

0 1 0 0

1 0 0 0

0 0 0 1




a11 a12 a13 a14 a15

a21 a22 a23 a24 a25

a31 a32 a33 a34 a35

a41 a42 a43 a44 a45



=


a31 a32 a33 a34 a35

a21 a22 a23 a24 a25

a11 a12 a13 a14 a15

a41 a42 a43 a44 a45


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P (1; 3)A =


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0 1 0 0

1 0 0 0

0 0 0 1




a11 a12 a13 a14 a15

a21 a22 a23 a24 a25

a31 a32 a33 a34 a35

a41 a42 a43 a44 a45



=


a31 a32 a33 a34 a35

a21 a22 a23 a24 a25

a11 a12 a13 a14 a15

a41 a42 a43 a44 a45
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P (1; 3)A =


0 0 1 0

0 1 0 0

1 0 0 0

0 0 0 1




a11 a12 a13 a14 a15

a21 a22 a23 a24 a25

a31 a32 a33 a34 a35

a41 a42 a43 a44 a45



=


a31 a32 a33 a34 a35

a21 a22 a23 a24 a25

a11 a12 a13 a14 a15

a41 a42 a43 a44 a45
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a11 a12 a13 a14 a15

a21 a22 a23 a24 a25
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Thank you!
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